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13 1- Derive the density function of the random variable X where
pexe X= —log, U with U(D,1) 10%
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poge T35 2= If the joint distnbution:  F, (¥, ¥) = 24xy for: xvy=1 xy=0
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page f1 3 The mixed congruential generator: x, =17x, +3 {mod 8}
has full (8) eyele length, With seed x, =1 generate all cycle one after each.
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post. E {) 4 Find the normal distributed random variables (N1, N2) by using Polar- Marsaglia
method (rejection methad) from each pair of the Following uniform distributed
random variables:

(VL,V2)=(0.1,03), (VI,VZ)=(0.9,0.8), (V1,V2)=(0.6,0.8)
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page 2 5 Two independent uniform random numbers with L{0,1) are given in the binary
fiorm as below: LI1=0. 1070 1001
U2=001101010

Find the binomial distribetion B(8,1/2) random variables X1 from UL and X2

with B(8,1/4) from 11 and T2,
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&- Find random variable X with geometric distribution and p=0.5 from U{0,1)=0.3
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X = 1+[1-7] = 2



